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Section A (30 x 2 marks)

For each question from 1 to 30, four options are given. One of them is the correct
answer, Make your choice and shade the correctoval (1, 2, 3 or 4) on the Optical

Answer Sheet.

1. Dawn found animals Y and Z in the schoal garden. Both animals were insects.

Animal Y

Based on the diagrams above, which of the foliowing statements is[jncorrect?)

All insects have

(1) wings

(2) feelers

{3) three body paris
(4) three pairs of legs

Living Things

]

Animal Z

Catherine classified some living things as shown below.

[

Chicken
Grasshopper

1

Mealworm _Beeﬂe
Butterfly

Which of the following characteristics did she use to classify them?

(1) The way they move

(2} The way they repraduce

{3) The number of legs they have
{4) The number of stages in their life cycle




-3.

The diagram below shows Organism K.

roiting log

A lot of black spots
in between the gills

Organism K

The characteristics of organisms A, B, C and D are shown below.

i

B A | B c D
Makes its own food Yes | No Yes No |
Bears flowers No No Yes No |
_{. Reproduces by Yes Yes No No i
spores E
Which of the organisms, A, B, C or D is similar {o K7
(1) A
{2)B
(3)C
(4)D
Tania wanted to find out if plants need light to grow. She set up an experiment as
shown below and placed them in her garden for 7 days.
Glass Cardboard
box \ / box
plant
hole o \ <y |

Set-up S
Why was the experiment not a fair test?

(1) Only one of the boxes had a hole.

(2) Different types of boxes were used.

(3) Different types of plants were used.

(4) The duration of the experiment was foo long.

p




5.

'\
i

The dl@ram below, shows the ilfe—cycle of an anlmal

ieid

(1

" @

1.9

Faur ch:idren studladzth& life: oyclé of the mosquito and: the butterﬂy and made
some statements about the;two organisins.
ueaéf{"fﬁ’ «’g

fg st geel life cycle.
Jainwiter.

Shane: They have:
Russell: Their youn
Melissa: They are ¢
Nancy: The young*of ba

Y
pest& atthe aduit stage.
,l'ﬁgnlsms resembles ihe adu!t.

R A -

o1t T

Who miade the corfectstatéiment?- o MR

{1y Shane only

( ol -
(3)-Shane and Mehssa aniy f',
‘(4)*Russeii Metlissa and Nanoy only



Tﬁqsg_raph‘bélow shows the number of days of each stage in organism K's life
cycle:

A4,

g

42 4

Egg Nymph AdutMale  Adult Female
Stage

Based on the graph, which of the foi!owmg statements-about Organism K is true?

{1 Orgamsm Kiives as an adfli Jays:

{(2) There are 4 stages in Organ;sm\i{'%d_ ({e cycie

{3} The lifespan of Organish.Kis mofeinan 5 weeks.

{4) The young takes 13 daysto become an adult after the egg is hatched.

Gerald observed two animals % and Y He drew a checklist and placed a tick )
in the box when he made the observat:on His checklist is as follows.

T Animal X_| Animal Y
_ v v
. 1 et st é;«,:‘,.,'gi'J:_“-f' b b
. There are3sta£__=‘_ﬁ'l itﬁ hfe CyCle ‘\l
s e

Which of the following best. represents Animai Xfand Y‘?f

S

Animal X Animal Y
(1) Frog ‘ Butterfly 4o
2) Grasshopper .. Dragonfly .
3y Cockroach ] Mosquilo
1@y | Beatle | ' Frog



10

At which of the foliowing stages, A, B, C and/or D can the plant make 1ts C
food? T

A B c

(1) D only

{2)A and C only
{3y Band U only
{4)8,Cand D

The diagram below shows a plant.

flower

Which of the following statements correctly describe the plant?

A The pl’an’é:ﬁ“é, aves with entire edges.
B  The planthasaweak ster:. .
¢ The plant is a flowering plant:

{1) A and B only
{2) Aand C only
{3) B and C only
(4)A. B and C
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12.

John planted 4 pots of seeds labelled A, B, C and D. In each pot, there were 5
seedlings.and 50g of:soil. He watered them daily with different amounts of water
and measured their average heights after one week.

35 e e —

30

25, R

20

15 e e e e e e

Average height of seedlings (cm)

30 40 50
i Amount of water given daily (mt)

From this experiment, what can John conclude?

(1) The more the number of seedlings, the taller the seedlings grow.

(2) The more the amount of water given daily, the tafler the seedlings grow.
(3) The more the seedlings grow, the more the amount of water given daily.
{4) The more the amount of water given daily, the slower the seedlings grow.

Which of the following statements about the small intestine is true?

(1) Digestion ends in the small intestine.

{2) Digestion does not take place in the small infestine.

(3) In the small intestine, water is absorbed from the undigested food.
{(4) In the small intesline, waste is sfored until it is ready to be excreted.



13.

Janice ate four types of food, A, B, C and D. The graphs below show the changes
in the amount of undigested food for A, B, C and D found in the human digestive
system over time.

}
i
|
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el

Based on the graph, which type of food is the most difficult to digest?

(1) A
(2)B
(3)C
4D



14. The diagram below shows the human digestive system.

Which of the following tables correctly describe parts A, B. C.Dand E?

Parts of the Digestive System
1) | Al BJ]C|D]JE
Contains digestive Juice v v ~
Abscrbs digested food N
Absorbs excess water R

‘ Parts of the Digestive System

(2) A B | C | D] E
Contains digestive juice N N
Absorbs digested food y
Absorbs excess water V N

Parts:of the Digestive System

(3) A B C D E
Contains digestive juice Vv N N
Absorbs digested food v
Absorbs excess water K

Parts of the Digestive Sysfem

(4} , AT B|lC]|D]E
Contains digestive juice N V ~
Absorbs digested food ~
Absorbs excess water v




15.

16.

The diagram below shows how some systems in the human body work with one
another.

Digestive System System P

Substance N‘ /xygen

System Q

Substance R + Oxygen

r

All parts of the body

Which of the following best represents system P and Q and substance R in the
diagram?

_ System P System Q Substance R
(1) Respiratory System, Muscular System Undigestedfood
- {2) Circulatory System Respiratory System Digested Food |
(3) Muscular System Circulatory System Undigested food
4) Respiratory System Circulatory System Digested Food |

Jaden set up an experiment. He put as many 1-kg weights as he could on
Material P, until it broke.

1-kg weight

Material P

wooden
blocks

He repeated the experiment with Materials Q, R and S. The number of weights
was recorded in the table below.

Which material; P, Q, R or S is the strongest?

(1} P
(2} Q
(3) R
(4)8°

Material . P a " S
Number of weights placed.on : _ .
the material until it broke 21 5 3 17



17. The flowchart below shows the characteristics of materials A, B, C and D.

: Yes
Can it bend? ———-—>.
. No
¥ Yes
Is it:strong? .‘. o
No
: Yes
Is it waterproof? 4—@

Mo

D

Based on the characteristics shown above, which of the following materials, A, B,
C or D is most suitable to make the part labelled R?

,//

1

Ve
| i
{1}A
(2)B
(3)C
4D

_10



Four similar obhjects of the same size were placed in a container of water as
shown in diagram 1. They are made of different materials A, B, Cand D.

Diagram 1

Diagram 2

Which material, A, B, C or D would be the most suitable to make the buoy shown
in Diagram 27

The diagram below shows Substance P in a tilted cup when it is at room
temperature and when it is heated.

Substance P

r ., / able top

= when heated

Af room temperature

Which of the following best represents substance P when it i.s heated?

Has mass Definite shape Definite valume
{1) No ' No No
RV No Yes No
{3) Yes No Yes
(4 Yes Yes Yes

At




20,

21.

Vivian connected a pump to a container.
Pump  90cm® of air
250 cm®

11— of air
Centainer————-

beznamzzgd B0 o’ of water

She pushed the pump in completely and S0 cm® of air was forced inlo the
container.

Which of the following shows the correct volume of the air after the pump?

(1) 150 cm®
(2) 250 em”
(3) 340 co”
(4) 400 cm®

Jimmy filled a container with water and a balloon with air. He then pushed the
bailoon into the container of water and observed that the water in the container
overflowed. '

) A"

Waler

Wéie!‘ L
N -+ overflow

overfiow

Before
Which of the follewing is not shewn by the experiment?
(1) Air has weight.
(2) Air takes up space.

{3) Air can be compressed.
{(4) Air has no definite shape.

12



22,

23,

When a rubber ball was placed into a displacement can as shown below, the
amount of water collected was 50mi.

displacement
can

rubber ball 50mi of water

Which of the following diagrams correctly shows the water level in the
displacement can before the rubber ball was placed inside?

M 2

(3 )

Four cubes A, B, C, and D, are of the same volume buf made of different
materials. The masses are compared against each other as shown.

Which of the four objects has the largest mass?

(WA
2)B
@)C
(4D,

13



24,

25.

Jim placed three objects in a black box that does not allow light to pass through.
He then peeped through the small hole at the side to see if he could see the
objects. He then repeated the experimeni but placed a torch that was switched on
in the box.

OF——— hole

The table below shows his observations. A tick (¥) shows that Jim could see the
object.

Objects With torchlight Without torchlight
A V '
B N
C Y v

Which of the following objects, A, B and/or C gives out light of its awn?

(1) Aonly

{2) Conly

(3} Aand B only
{(4)A,BandC

Eugene set up an experiment as shown below. He placed five identical cards with
holes in front of a lighted candle. He then lined up the holes and looked through
them fo make some observations.

S Cards with holes
% ot
O
Eﬁ O

Eugene's eye

Lighted
candie

What was the aim of Eugene's experiment?

(1) To find out if light:can be reflected.

(2) To find out iflight travels in a straight line.

(3) To find out the brightness of the candle flame.

{4} To.find out if light tan pass through an opaque object.

14



26. Matthew shone a torch onto two objects, X and Y, and the shadows cast by the
objects are as shown below.

Shadow of object X | Shadow of object Y

He then placed a wooden cube behind Object X as shown below.

R

Object X Wooden

cube
Torch 7‘ - Z ‘ Screen

| |
He repeated the experiment using Object Y.

Which of the following carrectly shows what would happen to the shadows of X
and Y7

Shadow of X Shadow of Y

(1)

2)

(3)

(4)

15



27.  Tom placed two identical toilet rolls with hollow centres directly under the famps
as shown in the diagram below.

Toilet roll with
hollow centre \8 @
NN R
Screen A Screen B

What would he observe on the screens when the lamps are switched on?

Screen _A Screen 8_

B

2

@

{4)

0@ 0 e




28.  Ziming conducted an experiment using Materlal M. He set up an expenment as
shown below.
@j 1
Torch I

Material M

Light Sensor

He then placed sheets of Material M in between the light source and the light
sensor one at a time. He recorded the amount of light passing through the object
in the table below.

Amount of light detected (tux)
1100

‘Number of Sheets of M

500

700 %

500

coftn|Hinao

300 ;

Which of the following giaphs shows the relationship between the number of
sheets of M and the amount of light detected?

(M 1 (2} A
Amount ' Amount
of light Tl of light
detected / detected

Numiber of sheets of M Number of sheets of M

{3) A 4) "
‘Amount Amount
of light of light
detected detected

Number of sheets of M

17

Number of sheets of M



28,  The diagram below shows a floor plan of a book store.

7 AN

payment counter -

shelf

cashier

customer ———

N /

The owner wants to install two mirrors so the cashier can see any customer
standing behind the shelf without having to leave the payment counter.

At:wihich location A, B, C and/or D shiould he install the mirrors?
(1YAandB
{(2YAand C

(3B andC
{4y BandD

13



30. The diagram below shows Lisa walking towards W, X, Y and Z

%y street lamp

B

|

The graph below shows the possible lengths of Lisa's shadows A, B, C and D
taken at posifions W, X, Y and Z. Shadows A, B, C and D shown in the graph are
not matched to positions W, X, Y and Z.

Lengthof 4
shadow /
units

* Shadow

Which of the following. shows the correct shadow when Lisa was at position Y7

(1) A
(2)B
(3)C
(4D

19
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31. The flow chart below showgéi%e chafacteristics (;?i}‘_anima!s A, B, CandD.

Start |

Bl ALl

.;’ Ry
Does it give bifth | Yes Does it live on
to Iwe young‘? ) ~ land?

"Yes

PO e

— Yes | Doesithave Yes
’ imnore than one

pait of wings? -

(@) Whichlelters A, B, C or D best represéiits the following animals? (1]

(6" Based onthe flow 8Hiaft, state one difarehcs betwesh animals A and C.

{c) Bzedon the flow chart; state two chafédtteriatios of animal €. {1]

0




32. Study the diagram below carefully.

P -"“'ﬁ
T ) RN
Tadpole

(@) The freg is-a living thing. Based on the diagram above, list two characteristics of
living things. 21

i

i)

(b) The young of a frog lives in water while the adult frog lives on‘land. .
How does living in different surroundings ensure that the young obtains enough
food? (11




33. The pictures below show the stages of growth of a seed.

x\%%%?

(a) Arrange the stages A, B, C and D in the correct sequence to show the life cycle of
the plant. - (1]

D

(b) ldentify part X of the seedling. What would happen if part X was remaved from the
plant at stage A? ) [2]

twt
3%







35. A farmer poured the same volume of water into each of the set-ups P, Q and R. He
observed the volume of water and amount of soil collected in each cup after five
minutes. His results are shown below.

Pot
Sail
Hole Smali
in pol root Small Small

Water and Water and Water and
soil collected soii collected sail collecied
in cup in cup in cup
(a) Which set-up, P, Q or R has
i} the highest volurme of water and soil collected? 1]
ii) the lowest volume of water and soil collected? 1]

{b) Based on the results, how does having more small roots affect the functions of
roots .in ferms of

i) the amount of water absorbed? (1]

ft




36. Amirah carried out an experiment using digestive juice A and two types of food, J
and K, which contain starch. She placed equal amounts ¢f digestive juice in each
set-up. (Note: lodine turns from yellowish brown to dark blue in the presence of

starch.)
-—t— Digestive juice A ——— Digestive juice A
Sp+—Food J {+— Food K
The foad. was Ie_ﬁ for 30 minutes, after which, 2 drops of iodine were placed in

- ibactiod N

each set-up.

Amirah recorded down her observations of the colour of the mixture in the table
below.

Type of Colour of Mixture after Adding
Food lodine Solution

d Satution turns dark blue,

Solution remains yeHowish-

K brown.

(a) Why did Amirah have to wait for 30 minutes before putting the iodine sofution? [1}

{bj B_és’ed ‘on the resulls, which food is digestive juice A able to digest? Explain your
answer. {2}

3



37. Benny carried out an experiment using two biscuits of the same size and mass. He
then set up the experiment as shown below.

Uncrushed
Biscuit

—_— 200miof |

Digestive juice X

Crushed— ooy

Beaker A

Riscuit

Beaker B

Digestive juice X will digest the biscuits and the biscuit will become mushy. The
results of the experiment are as shown in the table below.

Set-up | Time taken for biscuit fo turn mushy (hour)
A 3

B

1

(a) Identify the following variables for the experiment

i) changed variable:

ii) measured variable:

(b) Why did the biscuit in sef-up B bécome mushier first?

(2]

26




38. Sally had three unknown materials P, Q and R. She conducted an experiment by
using each material to scratch another material and recorded her observations in

the table below.

: Scratch Test Results
: / Scratch mark

7 [

{2) What was the aim of Sally's experiment?

{b) Is materialPorR harde’f?-‘Expléin YOUr answer.

27



39. Jane carried out an experiment using 4 different types of materials, A,-B; Cand D
of equal width and lengths. She dipped them intoa container of blue-coloured
water and noted the amount of blue stains on the materials.

Blue-
- coloured
R water

(a) Amange the materials A, B, C and D- accordlng to their absorbency. Start with the
most absorbent.. . ‘ {1]

.....

Most absorbent

(b) Which material, A, B, C or D would be the most suitable to cléan-ap a water spill
most effectively? Explain your answer. 21

28



40. The diagram below shows containers A and B, which are made of the same
material, being lowered into a basin of water.

Hole
\

A B
: Ho!e/
- A -
Basin T N
waler ' - B

Fifteen minutes later, it was observed that container A remains floating on the
water but container B sank to the bottom of the container. Explain why. 4]

:?O_bs_grvaﬁo_n Explanation
@) Container A
continues to fioal.

B} Container B
-sank to the
bottom.




47,

(a)

Study the diagram below.

Lit Candle

Draw the path of light that makes it possible for the boy to see the candle flame. [1]




42, Jack performed an experiment using the set-up below.

White Screen

Circular card with
lightning bolt shaped hole

A shadow was formed on the screen.

{a} Give two reasons why the shadow was formed. [2}

(b) Shade the diagram below to show the shadow formed on the screen. {11

{c) As the circulér card is moved towards the lamp, what changes to the shadow
wolld Jack see on the screen? [1}

N 4




43,

Nadia wanted to find out how much fight passes through materials W, X, Y and Z.
She set up the experiment as shown below.

—F || "

Torch Light Sensor

Material

The graph below shows the resulis she obtained.
i

Which material would be the most suitable to make parf A? Explain your answer. [Z]

- End of Paper -

32






EXAM PAPER 2014

LEVEL PRIMARY 4
SCHOOL AITONG
SUBJECT SCIENCE
TERM SA1
Q111 Q7 |2 Q1313 Q1913 Q2512
Q214 Q8 |3 Q1413 Q202 Q26 1 4
Q3|2 Q9 |3 Q1514 Q21 |1 Q2712
Q41 Q103 Q16 {1 Q2212 Q28 | 3
Q5|4 Q112 Q1712 Q23 | 1 Q29 [1
Q6|1 Q12 |1 Q183 Q24 |2 Q30 | 3
Q31 |(HD
(i) B
(b) | Animal A gives birth to live young but animal C lays eggs.
(c) | It does not give birth to live young and it can fly.
Q32 | (a) | (i) Living things can reproduce.
(i) Living things can grow.

(b) | The young and the adult will not need to compete with one another for

food.
Q33| (a)

(b} | If part X is removed from the seedlings, it would not have any food and
will die.

Q34 | (a) | It absorbs waler.

(b) | It wouid cause the amount of moisture in the box to decrease keeps
leather dry and prevent mould from growing as mould cannot grow
without water.

Q35| (a) | (i) Set-up P
(ii) Set-up R
(b) | (i) More small roots result in more water being absorbed.
(ii) More small roots result in more soil held more firmly.
Q36 | (a) | It will aliow the digestive juice to act on the food to be digested.

(b} | Food K. The entire solution remain yellow-brown. This shows that starch

is no longer present.
Q37 | (a) | (i) The biscuit is crushed or uncrushed
(i) Time taken for the biscuit to get digested.

(b | The biscuit in Set-up B was digested faster as the biscuit was in small
pieces. This increases the exposed surface area of the biscuit for the
digestive juices to act on.




Q38

The aim of the experiment is to find out which material is the hardest.

Material P. Material P can scratch material R and Material R cannot
scratch Material P,

Q39

(@)

B—-A—-D-=-C

(b}

Material B. The length of the material stained blue is the most which
shows that it absorbed the most water thus Material B would be most
suitable to clean up a water spill most effectively.

Q40

(a)

Air in container A cannot escape. It takes up space and water cannot
enter the container so container A is light thus it will float.

(b)

Air is container B can escape through the hole at the top of the container
B so water can enter through the hole at the bottom to take up the space
previously occupied by the air so container B is heavy thus it will sink to
the bottom.

Q41

(a)

s

(b)

s

Q42

Light travels in a straight line and it was blocked by the circular card.

)

The shadow will be bigger.

Q43

Y. The amount of light recorded passes through material Y was the most.
Material Y is transparent thus the fish can be seen.
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